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X+20—-x>18 20>18
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= 3 x AOAD Vi f&

1 .
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1 3 2
[(§”+7) cm“]
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sinﬁzﬂ:E ~0=60° -.cosf==
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sin¢5:u:l L ¢=30° .'.cos¢:£
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15— Bt —EEE =0

F IR L M ERR 2 A2 6 > 5 7 {88 ;

F— (TR 2 > RN EE T 2 RIZ 5 > £ 6 (5% ;
F TR 3 > MR NIEE T 2 RIE 4 > ££ 5 (58
FEHF TR 4 > TIHERMEET 2 RIE 3 > £ 4 (58
B EE T IR 5 ML ERR EE 2 F2 2 > 5 3 (B8 ;
F—EBF LR 6 TIHGRIEBFE AR 1 £ 2 [H8
FEBFTLR 7 > TIHGRIEEE AR 0 £ L {HE -

B i —(EET =2 NEGEFNER 0 AL
PR =B EE T R 0 5 00 AISE—(E%s Ry 5> 3k 1 {E%
HAER TR 0 HEREF MR 5 - 3t 4 [HE
HWHER=EFE R0 Hepir 2 A 5 34 (58 -

ER= - R —(EET =4 > RHEGETOER 0 Al
PR =BEE T R 0 5 00 AISE— BT R 3> 3k 1 (EE
HASE R0 HERBrE 2k 3 0 3 2 {@#
HAEBE =T 0 HERBTF oMk 3 - 3 2 @ -

fEY etk —(E# S =6 A —{H% 1006 -

N HFH (7+6+5+4+3+2+D)+(1L+4+4)+(1+2+2)+1=43 {FE#-
(b) &EAO

1
[ (Ax7+2x6+3x5+4x4+5x3+6x2+7) + (1+2+3+4)x2 + 5 + (1+2)x2 + 3 + 1] x 1000 + [ >
(6x7+5x6+4x5+3x4+2x3+1x2) + (1+2+3+4) + (1+2)] x 110 + 2x9 + 4x5 + 6

=119 x 1000 + 69 x 110 + 44
=126 634
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20 | [(a)70]

(@) 70=15+55=25+45=35+35=21+49

(b) AR 15 - 25 J2 35 FRDA 3 BFHVERE T AIZE 0 1 fe 2
En-15- n-25k n-35 pHIEREL3 - ERELE/Z 0 1 R 2>
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AN FfEE > Hn=(Mn-15)+15=(n-25)+25=(n-35)+35 -
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a+M+b=a+c+20 d 14
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M =26
a 26 b
(b) 26+15+e=20+e+ f c 15 14
s f=21 20 - f
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HTEF 2 M=a+15+21=9+15+21=45
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..c=16
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20+e+f=20+e+21=45 9 | 26 | 10
se=4 16 15 14
20 4 21
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